VL3 142 A

1 AR TR & AN

m BUHL E T
" " A A " " H
myOT 4 | %K 7 7 > L I R B I (=4 7 7 ™ 3 I N A I (= 7 S 7 P myOT 4 | 3 %}\ % =
Bs 8 1T B 269 279 299 578| T » WEHET5 T H 540 582 560 1,142% o7 7 T H 1,280 1,611 1,435 3,046 |fil KET3 T H 210 257 236 493
B W2 T H 376 380 387 767| T » WEET6 T H 395 403 420 823|%r W 8 T H 536 647 645 1,292/ atl 4,629 5,164| 5,197 10,361
B W3 T H 292 338 332 670 &t 9,488( 10,271| 10,118| 20,389|%r BT 9 T H 1,345 1,419 1,168 2,587 (%1 T H 99 104 103 207
Ta4ET LT B 154 152 151 303 [k I 606 659 677 1,336| KR /EET1T H 119 103 101 204| —RE2T H 330 380 389 769
a5y ET2 T A 84 72 69 141|% EHET1 T H 330 411 389 800| K SET2T H 479 519 506| 1,025| {RE3T H 273 302 314 616
7H 5 ET3 T H 127 154 170 324|% L BT 2 T H 610 673 655 1,328 &t 9,407 10,799 9,845| 20,644| {RE4T H 124 117 127 244
£ L HT 281 253 272 525 (% | BT 3 T H 1,526 1,471 1,416 2,887[ B #T1 T H 797 868 841 1,709 “{RZE5T H 91 107 107 214
A HT 440 433 442 875|% I BT 4 T H 770 780 755 1,535\ HT2 T H 300 368 334 702|3R # 1T H 74 65 76 141
fif my 214 217 220 437k M1 T H 800 919 850 1,769 ({0 BT 3T H 239 264 258 5223k 2T H 118 131 136 267
1k HT 138 116 127 243|k M 2 T H 327 388 409 797 (3T D BT 4T H 760 722 705  1,427|R H3 T H 121 124 112 236
# K T 175 207 207 414k M 3 T H 749 871 917| 1,788|{[ L ET5 T H 732 735 726| 1,461 |80 & A M 180 161 188 349
5 W] 433 446 464 910 |4 e 461 442 508 950 [T L T 6 T H 1,239 1,282 1,304 2,586|# & 1 T H 55 45 44 89
K o WE HT 490 518 530| 1, 048|%& 2 447 527 539|  1,066|3 0BT 7 T H 1,126 1,055 1,140 2,195/ & 2 T H 66 66 67 133
W b oE 300 292 300 592|K B F 1T H 277 320 317 637 (3T BT 8 T H 804 861 732 1,593|81 & il 40 60 70 130
K H o HT 509 533 531 1,064[ K B F2 T H 260 345 337 682 L M9 T H 947 837 939 1,776/ aH 1,571 1,662 1,733 3,39
HiafE1T B 201 200 217 417(4 s 1 T H 575 799 747 1,546 ({30 ET10°T H 903 766 763 1,529|'= [ 1 T H 337 253 276 529
HiafE2T B 258 275 275 5504 SF 2 T H 148 203 198 401 it 7, 847 7,758 7,742| 15,500|= [ 2 T H 88 97 88 185
HiafE3T B 303 363 357 72004 SF 3 T H 376 500 446 946k f 1 T H 191 200 217 4178 M 3T A 207 154 150 304
i 5,044| 5,228| 5,350 10,578|4 ¢ 4 T H 605 766 715 1,481\ #% 2 T H 1,042 1,314 1,234 2,548/ K1 T H 86 110 87 197
B KET 1T H 232 271 265 5364 FF 5 T H 512 628 674 1,302|# 4% 3 T H 362 425 438 863[/NEAR2T H 43 53 49 102
Ey KET2 T H 359 399 379 778 s 9,379| 10,702| 10,549 21,2514 H# 1 T H 1,364 1,441 1,510 2,951 /8@ K3 T H 175 199 208 407
B KET3 T H 213 258 259 517 # M1 T H 476 424 506 93014 # 2 T A 1,042 1,089 1,147 2,236|/N@ K4 T H 216 163 217 380
EW1T H 668 623 650 1L,273| EME2 T H 829 772 806| 1,578|4 # 3 T H 866 970 905| 1,875/ R5ET H 77 77 87 164
Ei2TH 738 839 850 1,689|3 F ##3 T H 1,120 1,074 1,102 2,176|4 # 4 T H 0 0 0 O|ER 1T H 273 171 250 421
EiM3TH 399 492 490 982 H M4 T H 774 698 672 1,370|14 3 5 T H 176 61 147 208| R 2T H 249 282 268 550
Ei4T B 785 807 915 1,722\ § #5 T H 1,016 945 985 1,930 it 5, 043 5, 500 5,598 11,098(H R 3 T H 233 183 206 389
Ei5TH 533 531 537 1,068|3 & ##6 T H 393 428 404 832/ Eil 54,036| 57,857 56,977| 114,834 |/ i 1,984 1, 742 1, 886 3,628
EileT H 222 219 257 4764k » M1 T H 396 416 419 8354 1 T H 352 409 372 81 A1 T H 217 168 237 405
EW7TH 490 506 437 9434k » 2T H 771 646 771 LAT 2 T H 417 456 462 918|pk A2 T H 221 226 159 385
E 8T H 275 302 296 598 |fifi [d BT 1 T H 333 397 382 T90m 3 T H 452 524 494 1,018k A 3 T H 101 121 110 231
EioT H 4 4 4 8| [ mT 2 T H 720 803 791 1,594 (%0 HET1 T H 207 239 240 479(p A 4 T H 61 54 52 106
KHEE1LTH 306 325 325 650 |fifi [d BT 3 T H 568 591 542 1,133(Ffn HET2 T H 292 306 338 644 (s A5 T H 76 69 72 141
K HEE2T H 327 304 292 596 |fifi [d BT 4 T H 432 405 395 800 |(#E # 1 T H 161 205 190 395|p% A6 T A 36 44 38 82
K HEE3T H 321 396 355 751 it 7,828| 7,599| 7,775 15,374|HE 45 2 T H 170 184 212 396|pk A7 T A 68 73 75 148
K HEE4T H 308 373 357 73008 BT 1 T H 1, 206 1, 408 1,325 2,733|#E 48 3 T H 185 217 208 425\ A8 T A 92 108 84 192
K HEEST H 312 347 350 697 (% BT 2 T H 836 975 846 1,821 |HF # 4 T H 230 261 247 508/ 2t 872 863 827 1,690
T4 WEET1 T H 649 710 703 1,413|%r W 3 T H 1,537 1,637 1,511 3, 1484 4% 5 T H 536 646 664 1,310(Hi 5E FF & #F| 9,056 9, 431 9,643| 19,074
T WERT2 T H 542 589 571 1,160 B 4 T H 742 814 796 1,610(4 48 6 T H 545 645 585 1,230|& # 63,092 67,288| 66,620 133,908
T WERT3 T H 396 481 415 896(#¥r M 5 T H 1,227 1, 541 1,391 2,932 |4 KB 1 T H 366 414 412 826
T4 WEHT4 T H 474 510 431 941(%r BT 6 T H 100 125 121 246 |7l AT 2 T H 506 401 537 938




